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)] 83 883440 | 349,920 | 583,434 | 278 280 2,100 659,843 | 76,409
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TEAI |2 EEEN THHS [ Thke | Fhme Bk keiim |mbi] [ER [BEE N FTHES | THhe] FHms B DEA kgl [hiBt:
[ERNH 12 281 304 610,020 1.08 2,004 ]104.6% EEES 30 273 301 | 705,456 1.10 2,341 [100.8%
XERBE 9 288 281 612,000 0.97 2,181 ]104.9% LK 9 273 312 | 672,600 1.14 2,157 | 96.1%
3L 5 282 264 573,696 0.94 2,171 ] 98.3% XEEE 8 268 295 [ 641,790 1.10 2,176 | 91.7%
EE# 5 280 284 652,752 1.01 2,297 1111.9% BEAER 8 265 320 [ 681,210 1.21 2,128 ] 97.3%

m EE =i 5 280 246 503,280 0.88 2,046 | 86.3% £ EZwid 8 260 299 | 802,440 1.15 2,680 [114.6%
ERETE 5 282 276 581,688 0.98 2,105 | 99.7% 7 EEBR 7 259 309 | 719,280 1.19 2,325 [102.7%

ST 4 278 274 642,060 0.99 2,343 ]110.0% 2 E 5 267 326 | 799,200 1.22 2,449 1114.2%

BEE 4 269 283 648,810 1.05 2,295 |111.2% TERETE 5 269 309 | 660,528 1.15 2,139 | 94.3%

Ak =! 3 292 266 497,880 0.91 1,874 | 85.3% F2H 5 272 299 [ 676,296 1.10 2,262 | 96.6%

=] 3 269 286 571,320 1.06 1,998 | 97.9% TIEA 5 273 286 | 667,224 1.05 2,336 | 95.3%
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TR R BDR BOHER HS rE it |[BRIERE (ke EFHER [STOEN [STOXEER HS (¥ it [BRIEE | keHiff
EERBE [FREa S R 263 297 883,440 1.13 2,975 BaBx REA F2EEE 262 349 972,000 1.33 2,785
XERES TE7D8 | FEE 266 308 797,040 1.16 2588 EEEE ST ZEA 255 323 932,040 1.27 2,886
EAER REA &% 313 338 789,480 1.08 2336 SEfT ZEA i 255 321 932,040 1.26 2,904
EE# AE(ERE)FEE 259 316 777,600 1.22 2,461 BEE RIEA T ks 276 328 922,320 1.19 2,812

e BE REEES)OHA 261 287 737,640 1.10 [ 2570 £ |[BEE REA Tl 278 328 912,600 1.18 2,782
SEfO IS 3] 290 296 736,560 1.02 2,488 77 [EAER RE(EERE)TEE 278 378 910,440 1.36 2,409
BEAER [l ER 256 291 730,080 1.14 2,509 FZE E=b3 &2 243 335 896,400 1.38 2,676
BaE REA SEE B 259 282 719,280 1.09 2,551 4o REA (E(ERE) 247 294 896,400 1.19 3,049
ZE# Tk E L 265 310 716,040 1.17 2310 EzE REA &% 247 345 893,160 1.40 2,589
EAR ESE A HRER 294 306 703,080 1.04 | 2298 XZRE |HE%k Tk 266 305 886,680 115 2907




